
	
  

S4 Table. Results of Censored Regression with Intensity × Synchrony Interaction 

Variable Coeff. SE Z p 95% CI 

Intercept 3.68 1.37 2.69 .007 1.00 – 6.36 

Intensity 0.98 1.13 0.87 .386 -1.24 – 3.20 

Synchrony -0.83 1.13 -0.74 .461 -3.04 – 1.38 

Intensity × Synchrony 1.31 1.76 0.74 .458 -2.15 – 4.77 

Mixed Sex Group 0.25 1.06 0.24 .813 -1.82 – 2.32 

Prior Knowledge -0.38 0.47 -0.82 .414 -1.31 – 0.54 

Log-likelihood: χ2(129) = -116.88; Model Fit: χ2(5) = 7.23, p = .204; R2 = .03 (McFadden’s) 


